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ROMEBE T — P RREIENER, FEMML. FRERgroup by Flimit—EAIFHRERS |FE
. BRBERTSARAFEN, XHERSIENT, ENEEBTRT,

FREN M T —LHEMN, XBEICR—TRUKSTRNERE. psiSEsiET, RERITEERT
1. EAE IR AGF=RECcreate_user_id (Bbtree&5|) , FrLAScxdZRIcreate_user_idiH T HSFITHREL

select create user id,count(*) as user_count from mytable group by create user id
ORDER BY user_count desc

create_user _id user_count
50500 209123
52200 20166
51800 2301
51550 1231
50250 082

HY50500,52200,5180085&0EE4)
2. HiZEih

explain (analyze,buffers,COSTS) select * from =" where create_user_id = 50500 order by id limit 100

&0

e WS AR mR
QUERY PLAN
text

Limir (coar=D.42..27.35 rows=100 widrh=302) {actoal rtime=3.826..10.27! rows=100 loopa=l)
Buffers: shared hit=3274
=> Index Scan using pk on {costel.42..56374.76 rows=2053T4 widch=302) {actual times=9.823..10.2438 rows=100 loops=1)
Filter: (create user id = 50500)
Rows Removed by Filver: SB08
Buffers: shared hit=3274
Flanning time: 0.40% =ms
Execution time: 10.355 ms

-

explain (snalyze,buffers, COSTS) select * from whare create user id = 53200 order by id limic 100
€
REEO
HERE RE 48 BE
QUERY PLAN
texct

Limit {costm(.42..278.5% rowss10) widthm302) (actual time=3&5.545..363.730 rows=100 loopa=l)
Buffers: shared hit=197630
-¥» Index Scan using pk an (eost=0.42..56374.76 rows=20237 widthe302] (actual time=363.542..369.702 rows=100 loops=l)
Filter: (create user id = 52200)
Fows Removed by Filter: 223108
Buffers: shared hins=197630
Flanning time: 0.430 ms
Execution time: 3469.817 ms

2 NSE AW

explain (analyze,buffers, COSIS) selsct * from - where creats_ussr id = 51500 order by id limic 100

&0
il T B
QUERY PLAN
text
Eimic icosre0 .42, 267215 sowpel00 widche30d) lactoal timeeS 031..5.48% rowse]00 loopgel) |

Buffers: ahared Rir=2393

1

i

3 => Index Scan using pk on {cost=0.42..56374.76 rowe=2110 widch=302) (actual cimee5.029..5.413 rows=100 loopa=1)
i Filver: (create user id = 51800)
]
]
T
i

Rows Removed by Filver: 2783
Buffers: ashared hit=2383
Planning time: 0.403 ma
Execution time: 5.526 ma
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explain [analyee,baffers, COSTS) select a.= from | select = frem where create_user_id = 50500 ) & order by a.id limic 100

1 (actual Timewl0.20%..11.347 rowselo0 Isepasi)
2
3 & (esat=0,42. . 503, T8 rowi=20B374 wideh=202) (actual cise=10,002..11.225 rowe=100 loopa=1)
4 Filter: (create uses id = 50500)
5 Rows Remcved by Filter: 3804
[ Buffers: shared hit=3274
7 Flanning time:
8 Ewecorien time: 11.306 ms
explain (analyze,buffers,COSIS) select a,® from ( select * from Whare create user_id = 41300 ) & order by 4.id Limit 100

1 ¥ roam=l00 Wlath=300) (8STUAl TiSE=360.552..381.040 powe-lCd loopael)

2 st shared hir=197690

3 =» Imdex S=an esing gl fesaTe0, 42, 56374,76 rouse02)7 widthed0Z) (sctusl pime=350,047..361,107 powe=l00 loepe=l)

A Filtesr: fcreste mser id = 522000

5 3

L] shated hiv

7  |Plagniog cime: n 481 =3 1
]

Exacution tiged 361,135 ma

explain (snslyze, buffers, COSTS) select a.* from ( select * from whers create user id = SLE00 | & order by 8.1d Limit 10
&0
oL RE WE mE
RERY PLAN
bt
1 |Limie (eoses0.42..3€72.19 roves100 widehs=d02) (sct timesg, 601, .7.167 rovssli0 loopasi}
2 rar stared hit=Z)Ti resdelf
k1 => Index Scan using fosar=D. 42, . 5637476 rows=2110 widrhe302) {ectual time=f.558..7.137 rows=100 Ioopas=l)
L] Frlees: (eveate user 18 = SL800)
5 Roug Remeved by FL
L] Bl ¢ shazed hi 7% ¢
7  Plasnisy zise: 0,425 =8
L BESUSIOn time: T 262 B2 ]

IFXN R ERAFEIRRN, ERXEMSERRIZERS? ? ? TERML T RARDEAsq
X sqlfIARE, AMBXERRE Tselect*, F2

S Tals Tamalvas batters, CORTE) B

E-;;Ie_l:t--l.‘_.l_n:;:q!,d :;-E where create user id = 53300 ) a order by s.magid limit 100

i)
it i?ﬁ AR | mE
Mﬁvm

Limic (cost=0.42..278.99 rows=100 widch=E] (actual cime=332.565..382.747 rows=100 loopawl)
Buffers: shared hit=137680
=» Index Scan using pk = s {eO8T®0.42..56374.76 rows=20237 widthe8) (actual timew=382.560..382.703 rows=100 loops=l)
Filter: (create user id = 52200)
Rows Removed by Filter: 223108
Buffera: shared hit=137630
Flanning time: 0.350 ma
Execution time: 382.796 me

XBEARIKEATIRS? BT —=, EX—T. RIWEERAZ selectid || " MiARselect id,

=
=

L

.

explain (analyse,buffers,COSIS) select * from [ select id (1'' aa magid from wnere create_user_id = 52200 | & order by s.msgid limaic 100
=]
BRY WE AR AR

Mwm

L Limiz (cosc=14230,18..14230.43 rows=100 widch=32) (actull cims=45.283..48.332 rows=100 laope=l)
2 Buffers: shared hitwS]
] => Sort (costsld230.18..14280.78 rows=20237 widthed?) (actual time=q8.281..48.305 rowssi0d lcopswl)
i Sert Ery: {((si=ple sms phone number.id)::vext |1 "":icest))
] Sort Method: top-B heapsort  Memsry: 20KE
¥ Buffers: shared hic=d01
F -» Bitmap Heap Scan oo jcosc=605.26..13456. 74 rows=20237 width=33) (ac 1 timm=4.971..26.565 rows=20166 loope=1)
i Recheck Cond: (create user id = 52200)
¥ Heap Blocks: exact=T83
o Buffers: shared hit=801
1 =» Bitmap Index Scap on index (coat=0.00..600.30 rows=303237 widch=0) (actual time=4.719..4.71F rows=30166 locpa=1)
2 Index Cond: (areateé user id = 52200)
3 Buffers: ashared hieg=112
4  |Planning time: 0.428% ma
5 |Execution time: 4E.401 ma

XERAZARNTES|, BERAFHEEHA “selectid || " " £FBZR3S|, B2 “selectid” FER
, M EFFRZpgEEIAREEC—ERE, StRIBEXRIsqBENRAERITAR. BEERAEXER
BTERSIERTAY, MBERHEESFRENZTEINEER, TRERRMEERT,
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lushed .

e, RRIXsql, idigag50500

explain {analyze,buffers, COSTS) select * from (| select 3d [1"" as msgid from where create _user_id = 5:5:‘3 )} & order by a.magid limit 100
Rl W AR HR
QUERY PLAN
Text

1 Iimit (cost=24645.30..34645.55 rows=100 width=32) {actual time=512.544..512.592 rows=100 loops=l)

F Buffers: shared hit=12030

3 =» Sort (cesce24645.30,.25168.74 rows=209374 widche3l) (actual time=513.%541..513.567 rows=100 loopa=i)
4 Sort Mey: |{(simple sms phone number.id)::texe || '"rreext))

5 Scrt Merhod: top-N heapsort Memory: 20%8

6 | Buffers: shared hit=12030

| =» BSeq Scan on [core=0.00,,.16643.15 rowa=205374 widthe32] [actual cime=(.054..353.224 rowe=209123 loopa=l)
8 Tiloer: (create user id = 50500)

L) Rows Removed by Fileer: 34308

o | Buffers: shared hiz=12030

1 [Planning time: 0.454 ma

.3 |Esecution time: 512.657 ma

JLUEEINMERZRS T, EEHSKEIINEN, NMxRpgIAXRNEIREINERERSZ (S
—iKEE) . ELAGERZRS.

idFE51800&# /I

explain (Analyse,boffecs,COSTS) aelect © from | select 43 |1'" a3 megid frop B0 il T e creace_uaes_sd - Si000 | A aeder by A.Eaghd JAmat 100

e
ERl W AR EE
QUERY PLAN
et

Limit (cosceS544.15..5544.40 rowee100 widthe3l} (actusl vimesT.313..7.360 rows=100 loope=l)
L Bulfefa: shaped BiT=378 rewd=d
i =» Bort {coste3Sid.13..3848.42 rowesiii0 widthedd) (ectual timesT.300..7.333 rowssiid loopesi)
| Sort Keys ([ gm0 rigext | *'srtext))
Sort Method: mv—ﬁbelp:m Il’n.rr 29k3
Boffers: shared Bic=373 reade=s
-> Index Scan us

= index on sisple sms phooe susber jcostel.42..5463.50 rowa=J110 widthedd) {ectual tise=(0.111..3.233 cows=230L loopa=1)

'
'

|

[ Buffers: shared hit=373 resd=d
0 Pisoning time: 0.442 ms

1 Execution time:r 7.423 ms

BEAZRS|, FOFRHEAE—#
4 FwithiEg

explain (analyze,buffers, CO5TS)with cte as | select id from where creste_user_id = 20500 ) select * from cte order by id limit 100

| Limit (cost=27262.48..27262.73 rows=100 widch=S) (actusl time=450.770..450.832 rows=100 loopa=l)

2 Buffers: shazed hiv=12030, temp written={53

3 CIE cte

L] =>  Seq Scan on {eoet=0.00..15072. 88 rows=i09374 width=g) (actual cime=0.037..237.247 rowa=205123 loope=l)
5 Filrer: {creats ussr id = 50500)

B Rows Remmved by Filter: 34308

7 Buffers; shared hic=12030 .

8 | -» Sort (cost=12189.60..12713.04 rows=203374 widch=8) (ectusl time=d450.76E..450.801 rows=100 loops=1)

| Sort Key: cte.id

1] Sort Method: top=-N heapsort Memory: 29kB

1 Buffers: shared hite=12030, temp written={59%

2 =» CIE Scan on coe {cosc=0.00..4187.4% rows=203374 widthed] (actual cimesd.0d4Z..392.124 rows=203123 loops=ij)

3 Buffera: shared hic=12030, temp written=459

‘
5

|[Execution time: 453.481 ms
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explain (analyze buffers, COSTSjwich cte as | aelect id from shere create user id = 52300 ) select * from cte order by id limic 104

B0
IREL RE e ER
QUERY PLAN
text
1 Limit (cosc=14483.15..14483.40 rows=100 widthe8) [actual timee31.168..31.213 rows=100 loopa=l)
2 Buffers: shared hice301
3 CIE zte
4 -> Birmap Heap Scan on simple sms phone pusber (cost=£05.26..13304.96 rows=20237 widche=B) (actusl tims=y.095..13.293 rows=20166 loops=l)
5 Recheck Cond: [cpeate user id = 52200)
& Heap Blocks: exact=T83
7 Buffera: shared hice301
8 =» Ditmap Index Scan om i id index (cosc=0.00..600.20 rows=20237 widch=0) (actual cime=3,.860..3.860 rowa=20166 loope=l)
9 Index Cond: (create user id = 522040)
10 Buffera: shared hit=ll2
11 -» Sort (coat=11T7E.18,.1228.78 rows=20237 width=8) (actus]l Time=3).167..31.188 rows=l00 locpa=l)
12 Scrt Hey: cte.id
13 Sort Method: top=N hespsort Memory: 258
14 Buffera: shared hit=201
15 => CIE S5can on cte (cost=0.00..404.74 rows=20237 widche2) (actoal Timewd.100..25.484 rows=20166 loopaw=l)
16 Buffars: shared hit=0201

17 Plannming ctime: 0.32] ms
18 |Execution time: 31.E621 ma

explain (analyze,baffers,COST5)with cte as | select id from Where create user id = 51500 ) selsct * from cte order by id Limit 100

O

Rl BE AR @
QUERY PLAN
text

Limit ([coat=55T0.52..5570.77 rows=100 widthef) (actual timee2.482..2.504 rows=100 loocpa=l)
Buffers: shared hic=388
CIE cte
=> Index Scan using simple index on simple sms phone number (coste=0.42..5447.68 rows=2110 widtheg) (actual cimew=0.032..1.302 rows=2
Index Copd: (create user id = 51800)
Buffars: aharsd hiz=388
=» Sort (coste=122.84..128.12 rows=2110 widch=E] (actual cime=3.480..2.485 rows=100 loopawl)
Sort Key: cte.id
Sort Mechod: rtop-N heapaorr Memory: 28KB
Buffers: shared hic=388
- CTE Scan of £oe (cost=D.00..42.20 rows=2110 widtheB} (actusl Eimew).035..2.107 rows=2301 loops=l)
Buffers: shared hit=382
Flanning time: 0.207 ms
Execution time: 2.566 ma

XBFHIERIIFEIREAS, ARETwWithtb FEOEEEIRERE FTatR—LEE, TEFHEwith
EAARER “selectid || ", SIR4E,

EXNEICE:
1.pglYgroup by Flimit XANNMRBLSSHERS A4, AT BATFEIAESREwWIithiIEGER

2.pgHsqITRIGRERGERZRS INERERS, WINREIERESIZRBED LRI/ (XEE
bR AR RIS REN Z202 HERARKENLKXAK, BATERS]) | selectfo
BNEE (XEFRFHNEHENITA) LKA,

DL R
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